crypto. deno Mon Cct 03 14:55:23 2011 1
$ pl

<...snip...>

?- consult(’crypto.pro’).

% gv.pro conpiled 0.00 sec, 2,900 bytes

% conbosets. pro conpiled 0.02 sec, 7,092 bytes
% crypto.pro conpiled 0.02 sec, 20,644 bytes

Yes

?- deno.

Probl em numbers = {3,8,6, 12,13} and goa
Solution: ( ( 18- (3 +8) )/ ( 12/ 6 ) )

1
-

Yes

?- deno.

Probl em numbers = {15, 8, 14, 4,3} and goa
Solution: ( ( 3* (14 -4)) - (15 + 8)

1
~

Yes
?- deno.
Probl em nunbers

= {6,14,4,1,12} and goal = 14
Solution: (12 - ( ( 6 -

14 )/ (4*1)))

Yes

?- deno.

Probl em nunbers = {4,6,5,11,13} and goal = 6
Solution: ( 5+ ( (11 +13) / (4*6)))
Yes

?- deno.

Probl em nunbers = {6,11,0,8,10} and goal =7
Solution: ( ( O*8) - (10- ( 6 +11) ) )
Yes

?- deno.

Probl em nunbers = {12,6, 11, 3,13} and goal = 14
Solution: ( ( (12 +6 ) + ( 11 + 13 ) ) [/ ex(ex(1l2, + 6), +, ex(11l, +, 13)) )
Yes

?- denp.

Probl em nunmbers = {13,9, 8, 11,4} and goal = 3
Solution: ( ( 8* (11 +4) ) - (13 * 9) )
Yes

?- deno.

Probl em numbers = {8,7,6, 1,14} and goal = 2
Solution: ( (1 +(8+7) )/ (14-6))
Yes

?- deno.

Probl em nunbers = {3,1,1, 2,12} and goal = 4
Solution: ( (12 - (3 +21) )/ (1*2))
Yes

?- deno.

Probl em numbers = {12, 2,6,0, 11} and goal = 10
Solution: ( ( 12-2) + (11 * (6*0)))

Yes
?- halt.



